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Review from last time : FIOKCOSUO F- 2¥
f- (e) = SHUO

QI Graph f- 101=51120 0 ≤ 0≤ 25

solution

-1=2112 ⇒ 1- = 'T
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domain:* @ ≤ 21T

range :-/ ≤ ties ≤ I
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Q2 Graph f- 101 -_ sin / )
solution

-1=211-2.112 = 41T
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Why does yfco)= SHUO start at 0 ?
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03 Graph f- 101 = cos 40 ◦ ≤ O≤ 21T

F- 2¥ = Ez
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QQ Graph f-10-1-5110 and 9101 = LOSO

for o ≤0£24

hence solve SMO= COSO
, explain your findings

using me unit circle

Background information

guy 91N

: : : : :

solve flt)=glk ) means what value

of ✗ makes me y coordinateof fix ) and 9111
Me scene . There are multiple solutions which

you can read OF the graph



Q4 solution

y = cos0

suo

51114

unit circle

jakarta



More transformations

vertical stretch y= FIN y= hfcxl

stretch by factor K

Vertical shift

y= f-Data shift by a

Example I

consider f- IN = sink ( 0 is interchanged him ×

and it's not the scene
a) apply a vertical stretch

✗ as in me unit circle )
factor 3

Iii) apply a vertical shift by 1 unit ◦ ≤✗≤ 21T

Solution

• -

~ y=sux -1 ≤ snx ≤ I
- I -

4=351^7 -3 ≤ 3 sink ≤ 3"

~
- b-

"

µ 4=3517×1-1 -22-3 sink H ≤ 4

-2-



QS Sketch
f- IN = 4 sink -2 0 ≤ ✗ ≤ 21T

Ii ) write down me range OF fix)

cii ) stretch 4=3 on the same graph

Liii) solve f- 1×1=3

Civ) sketch 91×1=4 shhh -2 0 ≤ ✗ ≤ 21T

write down me range of fun and the period
OF fact

lv) sketch y =3 again and solve GCN =3

how many solutions are you expecting
solution

4=3 no solution

4 sink -2=3~ 45114=5

s.in?-- > I
→ ≤ snx≤ I

- 6≤ fix) ≤ 2 same gin 1-= IT


